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ELECTRONICS
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Cool-off time : 15 Minutes

/ General Instructions to c_audiddtes : : \

® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.

® You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’.

Use the ‘cool-off time’ to get familiar with questions and to plan your answers.

Read questions carefully before answering. -

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from thc same
question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary. '
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AM radio broadcast is done in the
frequency range 300 KHz to 3 MHz
while FM radio broadcast in the
range 30 MHz to 300 MHz. FM
transmission requires repeaters for
effective transmission and reception
while AM transmission does not
require. Suggest probable reasons.

(@) An antenna is required to
transmit a 3 KHz signal as an
electromagnetic wave. Obtain
the minimum length of the
antenna required.

(b} Comment on the impact of
the above result.

Name the process which enables

this ~ transmission  of  signals
occupying the same spectrum from
different sources through a common
communication channel without
each signal losing its identity.

The block diagram shows a super
heterodyne receiver. Some of its
blocks are not in proper order.
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10. -

11

12.

Parabolic dish antenna is most
widely used for microwaves.
Elaborate its principle.

Most of the modem telephone

exchanges are electronic exchanges.

It is quite easy to incorporate new
facilities and features in such
exchanges. How is this flexibility

attained in an electronic exchange 7

Bandwidth requirement is ever

increasing. ~ Optical fibre

communication offers the best

option for this purpose : '

(a) State the fundamental principle
of its transmission

{b) Give an account of the

optical fibre communication
system.

Inte] 8086 is a ;hicrogrocessor
having 16 bit word length. Explain
your - ‘understanding of  the

underlined word/phrase.
”~

* Match the following :

Microprocessor  Qutput unit
RAM Secondary
memory
Hard disk Control unit
Monitor Primary
memory

(a) Your parents have decided to
provide you with a computer
and a printer. They dre
considering to provide you a
dot matrix printer. But you
prefer a laser printer. Give
arguments to support your
demand.

(b) Give an account of the

working principle of your
option. :
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13.

You are typing in aioxig document

using MS WORD on your PC

which is not connected to a UPS.
(a) Considering the
power  disruption,  what
precaution will you take while

. typing in the document ?
(b) Give

reasons for the
precaution that you have
taken. :
14.  You have a PC and the telephone
connection at home.

(@) What additional hardware/
pcnpheral do you need for
using internet service 7

(b) Explain the need for using it.

15. The Prncipal of your School is
addressing a large gathering of
students.

(a) Name an electronic system
used for this purpose so that
every one can clearly hear.

(b) Explain the system with a

~ block diagram.
16. You have constructed a  bridge
rectifier in your lab. '

(@ Is it possible to satisfactorily
operate a high performance
electronic gadget using its
output ?

{b) Give reasons,

(c) How will you adapt the
rectifier to serve the purpose ?

17.  EEG, ECG, CT Scan and X-Ray are
different biomedical instruments.

Classify them based on their

principle of operation.

G-3023

frequent

[

[y

: rmmjtmm‘lsmg

UPS  caislaflajigiepomn  @oaly)s-
olad @;d eoecdrenman B0)
cwod ez’ MS WORD  @ai-
cwoUila)] OOSa] O21 s

(a) oyes apesoes :00) Ganad

SHEMAGORIS;O0, oaB @3-
SO} af)S}en)o ?

'(b) DB OX3 og')sgeesammﬂmggg

V6o g0 ?

MIBBOS UGB B3O HoatyF0o,

OSEGnNIMd dEMEUM)o DoNS.

@) @mafdemg mudanms cidlen)-
B 2G a0 anddalaciod
Hadlan0® @R @RYQIWDLC 7

b) molend eraloe agomaens ?

mlemg)es  aid)ud Lnnnﬂnn‘lgﬂmi

ae) aeilw oflsyodoid TORRONTIO)

- @REITVOGETUIDLM a6,

(@) ogodan) QEMAON G-
MO DalEWOUNEn)an

@em@osnﬂm m.ﬂg,};mmﬂmg _

@nld.
(s)] m@m’lamg (aJdommo
008 WO DnalEGWO-

cn’l aloa] o) dh.

®omud eomildd aey (niladed

D0Gleaand ameassl.

(@) oonicdls] B0 660
- eatdsanoaadad @mc@o-
M08 Daldoemo  myaloi-

S0a00]  (aidaniiaflonniod

muauiiaaeso ¢

{(b) @&ooemo CeruoWlalon) .

(©) @olom agm @ge U@
DniCQIWIBRIHNI0 |

EEG, ECG, CT Scan,  X-Ray
aawly  aileflo oo anicwd-
P2alHN® DaldoemeERul @y,
OO EROKDINS  (alUCTHHM
@RSITLNIMAHIGE
Mo GOleN)d.

.t





